T

1Person

MEDIU!

www.puig.tv

WWW.pUIgUSsa.com

SUZUKI GSX-8R ‘24-

DESCRIPCION

DESCRIPTION

info@puig.tv

info@puigusa.com

QTY.

ID. | PIEZA/PART

Cupula Z-Racing

Z-Racing screen

21972W/H/F/N/AM3

Tornillo Allen M4x20 @7 ISO 7380

M4x20 &7 1SO 7380 Allen screw

TORNI-17380-890

Arandela de nylon M4

M4 Nylon Washer

ARNYO0O0000003M

Pg.1/1

V0.06/23




	f4ba1fa124d166d78b177479b35e3033134ba08f4618ddf7091dc3eaf7bba250.pdf

